Prefixes
If we have very large or small numbers we sometimes use a shorthand way of writing them, by counting the number of zeros.

Mega (M) = 1 million = 1 000 000 = 1 x 106
kilo (K) = 1 thousand = 1 000 = 1 x 103

centi (c) = 1 hundredth = 
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 = 1 x 10-2

milli (m) = 1 thousandth = 
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 = 1 x 10-3
micro (μ) = 1 millionth = 
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 = 1 x 10-6
1 tonne = 1000 kg

Questions
1. Change the following into metres

(a) 50 Mm  (b) 25mm (c) 140 μm  (d) 15 cm (e) 0.1km

2. Change the following into kg

(a) 1500g  (b) 75 mg  (c) 16 tonnes (d) 120 μg  (e) 4500 mg
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